Friday’s Maths

1. Agreen pencil is twice as long as a blue
pencil.

Using this, complete the statements using
longer than, shorter than or equal to.

3 green pencils are 2 blue pencils

2 green pencils are 5 blue pencils

4 green pencils are 8 blue pencils

2. Eva, Jack and Rosie are comparing the length of ribbons.

Complete the sentences.
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has the longest ribbon.
has the shortest ribbon.
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3. Four children are measuring their
heights.

Eva is taller than Rosie, but not as tall as
Mo.

Dexter is taller than Mo.

Write down their names in order of their
heights, starting with the shortest.

4. Dora says,
Measure the height of the people in your
The taller you are, the house and measure the length of their

longer your shoes shoes.
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@ Is Dora correct?



" Eva, Jack and Rosie each have a piece of ribbon.
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*  How much longer is Jack’s ribbon than Eva's?

* Jack and Rosie put their ribbons together. How long are they
altogether?

*  Eva cuts three more ribbons of the same length as hers.
What is the total length of all four ribbons?

*  Eva cuts her ribbon in half. What is the length of each piece?

" Teddy has a toy train and a toy plane.
The train is 28 cm long. The plane is 16 cm longer.
How long is the plane?

The toy train is double the length of a toy car.
How long is the toy car?

Draw bar models to help you.



